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Candidates are required to give their answers in their own words
as far as practicable.

1. mbeaelbw˙thk ralw; (MCQ)& 2×10=20

(i) Ihtb& rJët÷tgk dÂAr;O R¿gÙg JtÂgvrhJ;olu rfkU ¡vbT?

(a) htbuK rJët÷tg& dˆg;u>

(b) htbuK rJët÷tgk dˆg;u>

(c) htb& rJët÷tgk dˆg;u>

(d) htbuK rJët÷tg& dÂAr;>

(ii) "rlfiU& "lk ____________>

(a) y=egu;tbT

(b) =eg;u

(c) y=eg‡;

(d) =˙tJtlT

(iii) rdheNul s÷tk ____________>

(a) ve;t&

(b) ve;t

(c) ve;&

(d) ve;bT

(iv) Im VU÷ttrl Ftr=;JtlTO R¿gÙg JtÂgvrhJ;olu rfkU ¡vbT?

(a) ;ul VU÷ttrl Ftr=;JtlT>

(b) m VU÷ttrl Ftr=;trl>

(c) ;ul VU÷ttrl Ftr=;trl>

(d) ;ul VU÷ttrl Ftr=;JtlT>
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(v) ____________ ytb{bT>

(a) b"whbT

(b) b"wh&

(c) b"wht

(d) b"whu

(vi) Irv;t ____________ mn dÂAr;O R¿g∫t rh¢;Ù:tlvqhKk fUhtu;w>

(a) vw∫tÙg

(b) vw∫tbT

(c) vw∫tuK

(d) vw∫ttg

(vii) ÷t;tgtk vwÌvu ____________>

(a) r;ÌXr;

(b) r;ÌX;&

(c) r;ÌXr‡;

(d) r;ÌXrm

(viii) Jgk =uJk ____________>

(a) ÙbrhÌgtb&

(b) ÙbrhÌgtJ&

(c) ÙbrhÌgtrb

(d) ÙbrhÌgr‡;

(ix) ynbT RoÎJhbT ____________>

(a) J‡=u

(b) yJ‡=tJrn

(c) yJ‡=tbrn

(d) yJ‡=:t&

(x) I____________ rNGfUt& yÙbtlT vtXgr‡;O R¿g∫t rh¢;Ù:tlu mbeaelk v=k ralw;>

(a) vqslegbT

(b) vqslegt&

(c) vqsleg&

(d) vqslegtrl

AH-III/Sanskrit-305-SEC-1/19 ( 2 )



Computer Application

2. Answer all questions (MCQ) 2×10=20

(i) Who is the father of computer?

(a) Allen Turing

(b) Charles Babbage

(c) Simur Cray

(d) Augusta Adaming

(ii) ALU is

(a) Artihmetic Logic Unit

(b) Array Logic Unit

(c) Application Logic Unit

(d) Automatic Logic Unit

(iii) ASCII stands for

(a) American Stable Code for International Interchange

(b) American Standard Case for Institutional Interchange

(c) American Standard Code for Information Interchange

(d) American Standard Code for Interchange Information

(iv) RAM stands for

(a) Random origin memory

(b) Random inly memory

(c) Read only memory

(d) Random access memory

(v) 1 Byte=?

(a) 8 bits

(b) 4 bits

(c) 2 bits

(d) 9 bits

(vi) PARAM is an example of

(a) Super computer

(b) PC

(c) Laptop

(d) PDA
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(vii) ___________ are system software to facilitate editing of text and data.

(a) MS Word

(b) Editors

(c) Power Point

(d) MS Publisher

(viii) Which of the following is/are operating systems?

(a) Windows

(b) Unix

(c) OS/2

(d) All of the above

(ix) ‘Baraha’ software is used for typing

(a) Sanskrit

(b) Bengali

(c) Hindi

(d) All of the above

(x) LAN stands for ___________.

(a) Limited Area Network

(b) Logical Area Network

(c) Local Area Network

(d) Large Area Network
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